Maths Homework Y5 Mr Masingiri
Date set: 10.03.22
Date due: 14.03.22

You need to complete both sections

Section 1 - Section 2
1. 75 + 6500 + 390 + = 10,000 4. Match the improper fraction to its visual representation and then its mixed number.
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2. 6379 x 80 = . :'I\'hw = :B:
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5, 7263 - 6 = 5. Convert the improper fractions to mixed numbers and sort them into the Carroll
diagram.
. 2 AR, Mreen | Mok
6. A prize draw means that £875 7 OOW
must be shared equally between 18 L0 ;\'. , Whole number
100 people. Lynn says that each 4 >2
person will receive £87.50 Is she T
correct? 13 \ Whn:llenun;her
Explain your answer s '
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